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Basic Op-Amp Operation
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We have learned that an operational-amplifier is a differential voltage amplifier.

[image: image5.wmf](

)

21

() = ()()

ovo

vtAvtvt

-


A:  Consider two signals, v1 (t) and v2 (t) placed on the inverting and non-inverting terminals, respectively:



The output voltage is the is simply the difference between the two input signals v1 (t) and v2 (t), amplified by voltage gain Avo.

For example, say:
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and
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the op-amp output voltage is therefore:
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Note:

1.
The difference between v1 (t) and v2(t) is amplified.

2.
The common signal (7 cos 10 t ) is eliminated by the subtraction .

Difference amplifiers ideally have perfect commmon-mode rejection.
�





Q: What!? A differential amplifier—just what the heck does that mean?
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